Parts Information:
s E A LEY Blind Nut & Stud Riveting Kit
Model No: AK396.V4

3

NOTE: |t is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

l 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | @ www.sealey.co.uk

AK396.V4 Issue 1 4/10/22

Page 10of 2



EALE

Parts Information:
Blind Nut & Stud Riveting Kit

Model No: AK396.V4

Item | Part No. Description Qty Item | Part No. Description Qty

1 AK-LM0200 Top Handle 1 28 | AK-LM3006 Wavey Washer 1
2 AK-LM0194 Aluminium Handle 1 29 | AK-LM3009 Pin Rod (6x30) 2
3 AK-LMO0618 Top Handle Sleeve 1 30 | AK-LM0198 Drive Rod 1
4 AK-LM0619 Handle Sleeve 1 31 AK-LM3010 Pin Rod (6x17) 1
5 AK-LM0005 Handle Retaining Hook 1 32 | AK-LM3027 Riveting Rod M6 1
6 AK-LM0241 Nosepiece 4.8mm 1 33 | AK-LM3028 Riveting Rod M5 1
7 AK-LM0240 Nosepiece 4.0mm 1 34 | AK-LM3029 Riveting Rod M4 1
8 AK-LM0239 Nosepiece 3.2mm 1 35 AK-LM3030 Turnable Bar 1
9 AK-LM0238 Nosepiece 2.4mm 1 36 AK-LM0496 Rivet Nut Sleeve M6 1
10 AK-LMO0370 Fixing Sleeve 1 37 | AK-BR0068 Rivet Nut Rod M6 1
il AK-LM0507 Nut M22 1 38 | AK-LM0498 Rivet Nut Sleeve M5 1
12 | AK-LM0195 Aluminium Head 1 39 | AK-BR0069 Rivet Nut Rod M5 1
13 | AK-LMO51 Pull Rod 1 40 | AK-LM0500 Rivet Nut Sleeve M4 1
14 | AK-LMO0010 Jaw Holder 1 4 AK-BR0070 Rivet Nut Rod M4 1
15 | AK-LM0053 Jaw Set 1 42 | AK-LM0502 Rivet Nut Sleeve M3 1
16 | AK-LM0054 Push Rod 1 43 | AK-BR0O0O71 Rivet Nut Rod M3 1
17 AK-LMO1M3 Jaw Spring 1 44 | AK-LM3015 Movable Sleeve 1
18 AK-LMO0512 Connecting Rod 1 45 | AK-LMO0513 Fixing Nut Sleeve 1
19 AK-LM3002 Pin Rod (6x27) 1 46 | AK-LM0266 Nut Guide M6 1
20 | AK-LM0206 U-Bracket 1 47 | AK-LM0268 Nut Guide M5 1
21 AK-LM3003 Machine Screw M4x12 4 48 | AK-LM0270 Nut Guide M4 1
22 AK-LM0504 Drive Plate 2 49 AK-LMO11 Adjusting Nut 1
23 | AK-LM3008 Pin Rod (6x21) 1 50 | AK-LM3001 0-Ring 1
24 | AK-LM0503 Rotating Head 1 51 AK-LM3000 Torsion Spring 1
25 AK-LM0207 Connecting Nut 1 52 AK-LM3004 Screw M4 1
26 | AK-LM3005 Square Filler Plate 1 53 | AK-LM0003 O-Ring 4
27 | AK-LM3007 Filler Ring 1

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.
IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2

AK396.V4 Issue 1 4/10/22



